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carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/ questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question.
Darken the circle with Black or Blue ball-point pen only.

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ . © @ If (B) is correct answer.

. There are 50 objective type questions in this booklet. All

questions are compulsory and carry two marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer-Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic.

The questions for which OR part is given, this “OR” part
is only for Visible Impaired Candidates. If OR part is
done by visible candidate it will not be evaluated.
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GENERAL PAPER - I

HAN 99997 - 1 ,

1.  Distance between two stations A and B 1. T RYAI A I-?vﬂ'{ B % =i w1 g 778 foeft ®1
is 778 km. A train covers the journey from UH 7 A ¥ B & alta T gt 84 et wfe s
A to B at 84 km per hour and returns back F1 W Y qF FGl & AR 999 B I A,
to A with a uniform speed of 56 km per 56 Tersi wfd w21 =1 o § ot ¥1 3w
hour. The average speed of the train CIEIR-]] 31‘]'53 CIGE 2 IR
during the whole journey is : :

(A) 70.2 km/hour (A) 70.2 fereft wfa =
(B) 75 km/hour (B) 75 fémﬂ yfg =2
(C) 67.2 km/hour (C) 67.2 féh-::ﬁ wfa w27
(D) None of these (D) T 9 HrE &

2. Fill in the blanks to complete the series : 2. 9ot gof e 2 o o™ 9@

28, 84, 112, 196, 308, 504, 28, 84, 112,196, 308, 504, 7
|

(A) 812 (A) 812

(B) 872 (B) 872 |

(C) 785 (C) 785

(D) None of these (D) 99 | F T
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In a town of 500 people, 285 speak Hindi
and 212 speak Marathi and 127 speak
English, 20 speak Hindi and English not
Marathi and 29 speak Hindi and Marathi
not English and 35 speak English and
Marathi not Hindi, remaining 50 speak
none of these languages. Then how many
speak only one of these three languages ?
(A) 321

(B) 371

(C) 312

(D) None of the above

Which of the following is/are correct

about routers ?

(a) Router connects Multiple Networks

(b) Router Network
connection for only Wired Devices

Provides

(c) Router assigns IP Address to the
Computers

(d) Router has a Pool of IP Addresses

(A) (@), (b) and (c) only

(B)  (b), () and (d) only

(© (9 (d) and (a) only

(D) None of the above

When a producer allows 36% on the retail
price of his product, he earns a profit of
8.8%. What would be his profit percent
if the commission is reduced by 24% ?
(A) 12%

(B) 49.6%

(C) 64%

(D) None of these

3.

500 §&A1 A U wE §, 285 fet ae
AT, 212 S (S A, 127 SHst Sen

are, 20 et iR sfisht w aeEt T S
e, 29 fet R FEt | S T s
a1, 35 SiUstt piR Tt W et e Ao
A A1 99 50 BT | w ot e 7 A
A A, AR @ e d el
FAA TF 991 e e wi E2

(A) 321

(B) 371

(C) 312

(D) 9l | Wi off e
wed % favg # et § 9w wd §2

(a) TR TE-AeaH! H Sred T

(b) TR Fa TAE T F AU Foad
TS Y weferad 26 ¥

() T FL F1 IP UEH am &

(d) ®=H [P weHl = from am
(A) &9 (a), (b) TS (c)
(B) %ae (b), (c) W& (d)

© F (o), (
(D) 39 H 3

d) TF (a)
| =Ig 7t

mmmwqu@qt%%

P M E @38

8% WY BIT & | ITHT =Y

uﬁmm‘@*nw&qaaﬁzmmm

T ?

(A) 12%
(B) 49.6%
(C) 64%

(D) +¥ 4 =i

Tt
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()
(b)

(©)

(d)

(@)

Match the following : 6. Fm== ﬂﬁﬁﬁ FHifed :

Jargon (i) Anger (a) VIeSSITA () Y

Physical barrier (ii) Unfamiliar (b) it s/Edy (i) sTofRfeEd aETER
technical terms [Meg

Attitudinal (iii) increases () efugfa sy (i) SO0 gHERiE

barrier effectiveness of £l CEE
communication

Emotional (iv) Resistance to (d) wEETHE gfEAT (iv) TfEds & fd fady

intelligence change

Psychological (v) Geographic () TGS ST (v)  Mmifes gi

barrier distance

Code : e :

(@ (b) () (d) (e @ () () (d (e

(A) @ @ @ G (v (A) @ @ @) @) ()

(B) () (v) (v) @) (@) (B) @) @) (v) @) @

© G (v @) @ @ © @ (v Gv) (@) (0

D) (v O @) (@) () D) v) @ (v) (@) (@)

Which of the following is not a research 7. TH 9 HE-91 aﬁam Ufterea T &2
hypothesis ?

: i
(A) Comparative hypothesis (A) qorrHF 9ismeT

(B) Null hypothesis (B) ¥ ufteean
(C) Interactional hypothesis (C) iatehEaicars Ifawea
(D) Differential hypothesis (D) Taust uferea

SPACE FOR ROUGH WORK / T% &Td & fodr we
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8.  Anaerobic digestion converts biomass
into :

(A) Methane and carbon dioxide

(B) Carbon monoxide and sulphur
dioxide

(C) Carbon dioxide and carbon

monoxide

(D) Hydrogen sulphide and carbon
dioxide

9.  Statement (I) : Plagiarism is neither a
civil nor a criminal
offence.

Statement (II) : Plagiarism is illegal.
Statement (III) : Plagiarism is unethical.
Which of the following option is correct ?

(A) Statement (I) and Statement (II)
are correct.

(B) Statement (II) and Statement (IIT)
are correct.

(C) Statement (III) and Statement (I)
are correct.

(D) Statement (I), Statement (II) and
Statement (III) are correct.

TR SESYE SEME F afEfad s

49 g Fe smeieEe §

FTEA WANFHEES TT ATFL
TSRS §

FEH TREES U @ aRsEEs

TESIS HOHES U e SHSFIAEE
|

HYA (1) . Wiiefes =9k 7 @ 7wt 7 &

BTN, o790y ¥

A (1) : Fifefcars =9t = £
HYA () : Ffefes 9/ ifas &
=1 4 | 31 o1 fawen v 22

(A)

(B)

(©

(D)

HAA (J) 3R HAT (1) = ¥

THYA (1) AR = (1) T8 £

HAA (111) 3R e (1) Tet §)

HYA (I), YA (1) T He (111) T
g
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10.

14,

12,

Which of these cannot be put into 10.

non-experimental research ?

(A)
(B)
©
(D)

Which one of the following is not thelevel ~ 11.

Field Study
Field Experiment
Case Study

Survey Research

of teaching ?

(A)
(B)

©
(D)

Which one of the following is in correct  12.

Memory level
Understanding level
Comparative level

Reflective level

sequence ?

(A)

(B)

(©)

(D)

Knowledge—Comprehension—
Analysis—Synthesis—Application—
Evaluation

Knowledge—Comprehension—
Application— Analysis—Synthesis—
Evaluation

Knowledge—Comprehension—
Analysis—Synthesis—Evaluation—
Application
Knowledge—Comprehension—
Synthesis—Analysis— Application—
Evaluation

T A forwen! StyrifiTen srqeur & T e
WMEFAME?

(A) & T
(B) a?mrzi’m;

(C) =T FeqF
(D) WE& FTHUH

fr=r & | -9 e 1 TR A 8 7

(A) wIRwR
(B) aMY &

Q) ToTeF T
(D) forEmRms R

ﬁwﬁ%ﬁqmwuﬂm%?

(A) ¥ — s — favemm — dyem -
W—)W

(B) T — HIY¥ — I — fawaym -
YT i

(€) FH — 3y — favem - dvemu-
T > ST

(D) FH — WY - H — favem -
SUHNT —> HeIsHA
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Directions for question number 13 to 17 :

Expenditure of four countries, P, Q, R and S,
on arms over the years (in million dollars) are
shown below :

h

-

S

53]
(=]

ul
o]

S

W
&

5]
=)

(=Y
=

Expenditure (in million dollars) ——»

2012 2013 2014 2015 2016 2017 2018 >
Years —»

If it is assumed that the country investing much
on arms, feels unsafe, loosing foreign exchange,
facing political instability, detoriating
relationship with neighbouring countries and
their economic progress being hampered, then
answer following questions :

13.  During 2012-2018 economy of which
country has been maximum hampered ?

UV WEAT 13 W 17 fidh & forw Frddor

Hﬁﬁ,P,Q,Rmswﬁwﬁwa‘q‘@aﬁﬁ
(fafer= efer ®) 19 zafm mn &

A

10

2012 2013 214 2015 2016 2017 2008
i —>
e 7% 9 foron s @ i < 39 i w afus
e &, = & HEqH A €, faaen g
FI FHHl et B, SR T W1 e 2,
eI 9 % Hiy forea & qen anfefes oy
e B B, a9 T * IR S

13. 2012-2018 & <R %Y 39 F7 wefeygzen
To9 31 aifd gf 22

(A) P (A) P
(B) Q (B) Q
€) R (C) R
(D) s (D) S
SPACE FOR ROUGH WORK / 1% &4 % f&rd 3rme
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14.

15.

16.

17.

Which country is loosing most of its 14.

foreign exchange during 2012-2015 ?

(A)
(B)
©)
(D)

Which country may face maximum 15,

P

Q
R
S

political instability during 2014-2017 ?

(A)
(B)
©
(D)

In which year/years between 2012-2018 16.

P

Q
R
S

all the four countries except one have

increased their expenses on arms ?

(A)
(B)
©)
(D)

Which country is feeling most unsafe  17.

2014
2016, 2018
2014, 2017
2015

during 2015-2018 ?

(A)
(B)
©)
(D)

P

Q
R
S

F T I 2012-2015 F IWE Tod A
forefi g1 @ € 2

ey

B Q
© R
(D) S

HE G 29 2014-2017 F IE a9 Afuw
TerTaes sAfeertn o1 qmen fda &2

(A) P
(B) Q
© R
(D) S

2012-2018 & == foa sd/asi # @i =)
9 U I BieH BUAN W EH el § 2
(A) 2014
(B) 2016, 2018
(©) 2014, 2017
(D) 2015 |

I
FF-H1 & 101-5-2018 % S T A
FrgufeT Tey @ e 2
(A) P
(B) Q
(€) R
(D) S

SPACE FOR ROUGH WORK / T® &1d & o e

9210/ TFU-GEN/ELG-1 9

Set - A



OR / 3tgar
(ONLY FOR VISIBLY IMPAIRED' CANDIDATES)

(mafvmfaﬁmmam%%q)

Read the followmg paragraph and reply fam AT T T 30 TS [13-17) Qo T I
question. (13-17) dife
The following paragraph given below shows fr=fafaa =T, | Y 2018 H et et 3 fags-
the percentage distribution of the total it il % s=pia wa = =1 wfw fereror

expenditures of a company under various ST 81
expense heads during 2018,

The Total Expenditure of a Private Company sl et % T B4 ! P <ot gl
has the following Split :

1. The expenditure on pay and allowances 1. FH & F I H 20% A9 UF 96w

is 20% of the total expenditure of the =9 |
Company.
2. The expenditure on maintenance 2. fovet, s Y, Tofem, ufasy EZIHED
(electricity, water supply, telephone, H=99 W F =T F 20% |
transport etc.) is 20% of the total
expenditure.

3. Expenditure on loan repayments is 17.5% 3. Y {YTEE W FT = F 17.5% |
of total expenditure.

4.  The expenditure on security is 15% of the 4. Y W FA T F 15% |
total expenditure.

o.  Purchase of new equipment/furnitures =~ 5. T SYFOYEHE F whEart go TR
and their repairs is 12.5% of the total AT W 6T B9 & 12.5% |
expenditure.

6.  Payments made as taxes is 10% of the 6. HUF®YH DT =H F 10% |
total expenditure,

7. Contributions employee benefit fund is 7.  HHIR Y e § DA T FT 5% 3WRH |
5% of total expenditure.

SPACE FOR ROUGH WORK / T% 14 & foray e
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13.

14.

The expenditure on the Loan Repayments
is by what percent more than the
expenditure on purchase of Equipment/
Furniture, their repairs ?

(A) 5%

(B) 10%

(C) 20%

(D) None of the above

If the expenditure on Security is
T 2.10 crores then the difference between
the expenditure on New Equipment/
Furniture and their repairs and taxes is :

(A) R 1.25 crores

(B) % 95 lakhs

(C) % 65 lakhs

(D) % 35 lakhs

13.

14.

SO QAYTA S, ST/ HA AL T TR
TE S FOHG W H T FE 9 R
fawra aafes 22

(A) 5%
(B) 10%
(C) 20%

(D) T F FE

Ife geen =9 &t UK 22,10 FAZ A, O T
ITFO/FIAE, I HOHA TS U 9 A
I T T 7 S Fa B¢

(A) T125
(B) %95
(C) %65 @@

(D) X35 Mg

SPACE FOR ROUGH WORK / T% @14 & fod e
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15.  What is the ratio of the total expenditure 15, ¥33=q TE| T IR # Wi
on maintenance and purchase of new 3R ST} gomg T o T T F@ i ve
equipments/ furniture, their repairs and U a0 B/ AT ERRIGE SR 1l
to the total expenditure on taxes and
loans Repayments ?

(A) 5:4 (A) 5:4
(B) 8:7 B) 8:7
© 9:7 (©) 9:07
(D) 13:11 (D) 13: 1l

16. If the Loans Repayments amounted to 16. 4fg =w TN &1 T 2 2.45 FASH, @
% 2.45 crores then the total amount of &I, T A HIR Y BT W F e
expenditure on Security, Taxes and A T foret &2
Employee Benefit Fund is :

(A) R 7 crores (A) T7%ys
(B) ¥ 5.4 crores (B) 54 3
(C) T 42 crores (© T42

(D) ¥ 3 crores (D) %3

17.  The total amount of expenditures of the ~ 17. =3 YT/ Td I WG W g
company is how many times of F1 T i, F F Fer =g w5 fea T
expenditure on New Equipment/ 7?7
Furniture and their repair ?

(A) 05 (A) 05
(B) 08 (B) 08
© 10 © 10
(D) 15 (D) 15
SPACE FOR ROUGH WORK / T% %14 % ford wmg
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18.

19.

The foundation of all scientific research 18.

is :

(A) Report writing

(B) Research design

(C) Formulation of hypotheses

(D) Defining concepts

Read the following statements : 19.

(@) Teaching is a social act.
(b) Teaching is a personal act.
(c) Learning is a social act.
(d) Learning is a personal act.

Choose the correct option from the codes
given below :

(A) (b) and (d)

(B) (a) and (d)

(©) (b) and (o)

(D) (a) and (c)

qoft Sfrn SATEIHT 1 SR R

(A) e &=
(B) Iy Hfheq
(C) Symeae 1 fream

(D) HyeA! @l R

ﬁmﬁl@aﬁ%ﬁaﬁq&;@:

(a) ﬁwmémmmmﬁ
(b) ﬁrwrﬁmmm%n
(©) ﬁwlﬁmﬂﬁﬂ?mﬁl
(d) siferm s =fera B 7

frfafas 2 § 8 W fawes 1 =77
HIfT ;

(A) © ()
®) (@ ()
© ®TE

(D) (a) ()

SPACE FOR ROUGH WORK / T% &4 & &l W17
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20.  Consider the following Assertion (A)and 20, Fyeiferfaa U (A) T e (R) W famm
Reason (R) and select the correct code aﬁﬁm 3R R i feu T @Tﬁ s wE ET
given below : F1 T4 HIfS }

Assertion (A) : Teaching Effectiveness AU (A) | fremr gumeshiermr 5 ey

should be defined in specific contexts. Hel | aftsnfig feran s =

Reason (R) : Effective teachers should T (R) : WIEHR foerhi ) 3 fomg w

have good command over their subjects. ST ATHR WI 1 =nfew |

Code : % :

(A) (A)is false, but (R) is true. (A) (A) 3™ |2, W (R) 51 21

(B) Both (A) and (R) are true, but (R) (B) (A) W& (R) T ¥ &, 7 (R), (A)
does not provide sufficient reason ED fo vafa o LS G &l FA B
for (A).

(C) Both (A) and (R) are true and (R) (©) (A) W (R) 3 7 € IR (R), (A) F
provides sufficient reason for (A). o vt [k T AR

(D) (A) is true, but (R) is false. (D) (A) 9 8| W (R) 5197 ¥

21. Learning : 21. H@EH 9.

(A) Increases Intelligence Quotient (1Q). (A) s @t (smEa,) & gfs 2 2
(B) Modifies Behaviour. (B) =HEER ¥ YRHSH A €

(C) Develops interest. (C) == =1 fosma g &

(D) (A) and (B) both. (D) (A) T (B)@HI

22. Which one of the following is not a quality 22. A9 sN U 37= foreres =t IEEERI &
of a good teacher ? 7?2
(A) Sound knowledge of subject matter. (A) Towa agg #t 5 s |
(B) Good communication skill. (B) . 3T=31 H¥I9Yl HIve |
(C) Helping students in getting (C) verT a5 1 FHF 1 e

meaning out of what he/she 1 Ha I
teaches.
(D) Helping students in preparing class (D) forenfer=y =i\ AZH T § Fera
notes. AT |
SPACE FOR ROUGH WORK / T% & & ford wrire
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Comprehension :

Before actually entering the university for
my B.A., I had a whole year’s reprieve by failing
in the university entrance examination held in
the high school. I had expected to fare ill in
physics and chemistry, both of which had
defied my understanding. I never understood
what I was expected to do with the “data”
provided with the so-called problems, the
relevance of “atmospheric pressure” or “atomic
weight”, or what to do with logarithm tables,
or the why or how of a “normal” solution.
These points never became clear to me either
through my own efforts or through our
teacher’s explanations. I had been certain of
failure in these two subjects, but, as if by a
miracle, I had somehow passed in them, though
not with flying colours. On the contrary, I had
failed where I was most confident - English. I
failed so miserably and completely that
everyone wondered if I was literate at all. My
father, inspite of his strict attitudes in school
matters, had one very pleasant quality-he never
bothered about the examination results. He
always displayed sympathy for a fallen
candidate; he had no faith in the examination
system at all. But even he was forced to exclaim
in surprise, “stupid fellow, you have failed in
English! why ?” Proficiency in English being a
social hallmark, I remained silent without
offering any explanation, though I knew why.
One of our English texts was a grey-bound book
of chilling dullness called Explorations and

Y

B.A. % T favafaemea § awqd: wowd &
e, oo forermera ® et forvafermera werr wlian

# ol & 9 *

form o | 3 e ot o ifirer wre @i e
oI § H 7een T8 e, ik 4 Sl fa 7
Ty F S o1 | Ha et guen & T uE &

g & T 2 F e

5 gfieiv 21 g o <

SPACE FOR ROUGH WORK / T& &4 & ford
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Discoveries, pages full of Mungo Park’s
expeditions and so forth. In my whole career |
have not come across any book to match its
unreadability. T had found it impossible, and
totally abolished it from my universe, deciding
to depend upon other questions in the
examination from Oliver Twist or Poetical
Selections. But I found in the examination hall
that four out of six questions were based on
Explorations - that horrible man the question-
setter seemed to have been an abnormal
explorationist. I gave up, left the examination
hall in half an hour, and sat in contemplation
on one of the brick monuments beside the lily
pond.

Answer question 23 to 27 based on the above
passage.

T o /o | F T few s spetar
AT 7] GiafeeT Yo T % To T e
[ AW fam @ owen & 43 g f
6 T H T 4 T UHANTH U8 G o) LERGUIRED
qﬂ%#maﬁﬁz:wmmﬁaww
TFARATTRE o | 3 o ) gre fer, o) o 3
WTeR e e Big fea qen foreft wivs % aer &
ﬁaﬁrwiz@aﬁzméstrmwéaw@
% Hred o |

mﬂmﬁ@a%wwwﬁqmzsﬂzﬂﬁm
IW Jife |

23. Why was it necessary to learn English  23. 7 fe Siift Hia simervass #4if 12
well in those days ?
(A) English was considered an easy (A) s w wee fow o
subject.
(B) In English the prescribed texts were (B)  3Trsfl 3 oo argm wfarshe 9|
very interesting. '
(C)  English gave opportunity to sit and (C) osH, FoA-w e 7 are 2
contemplate. a1
(D) It was a hallmark of social status. (D) = | wfersat =1 wek faw o7
SPACE FOR ROUGH WORK / T% &1 % forst e
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24.

25.

26.

The word ‘faith” in the above passage  24.

means :
(A) Religion
(B) Intention
(C) Trust

(D) Not loyal

The expression : ‘Abolished it from my  25.

universe’ in the passage means that he
paid no attention to that book. Therefore,
‘“abolished” and ‘universe’ here are
examples of :

(A) multiple meaning
(B) extended meaning
(©) overlap of meaning

(D) pun

The author’s father was not disturbed by  26.

his son’s examination results because :

(Choose the most appropriate option from
those given below)

(A) He was a man of wide sympathies.

(B) He did not think the examination
system was fair and reliable,

(C) He knew that his son was stupid.

(D) His
explanation.

son gave a convincing

I YOS N Ry T o e § 2

(A) w

(B) ™
(C) fow=mm
(D) e

FHfveafa ' weiferee 2 wia wrE gfaed’’ &
e ® fop 3= |30 q&a® W oM T fea
a: F8l ‘eifers’ T ‘e S ¥

(A) agHIH

(C) =g =

(D) V=@

waEd * fudl ofm 79 % wWen sfomm w
feifea & & #=if -

(Had 'sqgaaﬁarﬂ gMHw)

(A) %ﬁﬁ%im{ﬁrmmww
a1

(B) 3% SATHR e Worell 3fHq ud
fervaraita 72 o1

(C) 3% AreH o o 37 g3 9 &
(D) 7 95 A| U favarg 9mg =men & |

SPACE FOR ROUGH WORK / 7% &d & foar W
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27. In what subjects did the author pass ? 27. w0 H O i o fava # woeran faef ?
(i)  Physics (i)  ifaes|faam
() Chemistry (i)  TETEA o
(iii) English (iii)  STISH
Choose the correct option from those = <t it feeredi @ wat fawmeq ﬂﬁlll
given below :
(A) (i) and (i) (A) (i) 3(ii)
(B) (i) and (i) (B) (i) #7 (iii)
(©) (i) and (iii) (©) (i) M (i)
(D) (i), (ii) and (i) (D) (), (ii) 3R (i)
28. Match the following in respect of schemes 28, As13if WE 5% ¥ & day F g w1
and their objectives. gHfera st
Abbreviations Objectives 'H&)T-I' 3%'?2‘1
(@) OSCAR (i) One stop education (a) OSCAR () =7 W9 TgHym 9
portal
(b) NPTEL (i) Ranking based on (b) NPTEL  (fi) UMl % 7ol W
innovations of the amenfta
institutions
(6) ARHOA (i) Building engineering () ARIA (i) fafeEn $shifafin de=r
and core science courses e HEg
(d) SAKSHAT (iv) Animations repository (d) SAKSHAT (iv) Ty fdifaed
Code : & :
@ ® (© (@ @ B (o (d
(A) () @) (v) () (4) @ @) @Gv) (i)
B () G (@) (v) B @ @) (@) (v)
©) Gv) @) @) @) © Gv) @) @ @
(D) (i) (v) (i) () (D) (@) @Gy) @) @)
SPACE FOR ROUGH WORK / T% &Td % fod g
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29. Match the following : 29. = =1 gafea #ifa -
(a) Kinesics (i) Body movements  (a) WHIEATEHY () wmifes nfafafimr
(b) Encoding (i) Formulation of (b) HHdrEL (i) Hw = fmio
message
(c) Verbal (iii) Skype calls (c) ¥ifas® H9r (i) THET HIicT
communication
(d) Proxemics (iv) Space around the  (d) WrafHad (iv) S % S I H
speaker M
() Communico  (v) Participate (e) TFHITRI (v) wewifan ¢
Code : Fe
@ () (@ () (e @ (®) (0 (@ (e
(A) (i) @) (v) @) (@) (A) (i) (u)l v) @ (@)
® O @ @ @ ® 6 @ (@ @ ©
© (v Gv) @) () () © () Gv) (@) @ a6
(D) @& @) (v) (@) (v) (D) @ @) (v) (@) (@)
SPACE FOR ROUGH WORK / 1% &4 & o -
9210/TFU-GEN/ELG-I 19 Set - A




30. Match the types of barriers to  30. §eff - [ % T9R § =504 % YFE =
communication in List - I with the factors Il - 11 % [FRH 1 gafea Fi ;

that cause them given in List - I1.

List - List - 1I gt - 1 Tt - 11
(@) Physical and (i) Jargons (a) ifos g At (i) TS
Mechanical barriers ey
(b) Socio-psychological (i) Lack of (b) wmfSs-wqamfe (i) fovaw 5
barriers confidence ZEY FHHT

(c) Semantic barriers (iii) Time and (c) v oMoy (i) w99 9@

distance
d) };ersonal barriers  (iv) Distrust  (d) i sy (iv) e

Code : Fe

@@ (b) (o) (d) (@ (b) (o) (d)

(A) @) (v) @) @) (A) @) (v) @) @)

(B) () @) @) () (B) @) @) @ (v

© (@) (@) @) () (©) @v) (i) (@) (i)

(D) @) () @) (iv) D) @) @ @@ (v)

SPACE FOR ROUGH WORK / T% &1 & fal we
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31.

32.

Which of the following abbreviations are ~ 31.

correct ?

(@) GUI - Graphic User Interface

(b) ISP - Internet Service Provider
(c) GIGO - Garbage In Garbage Out
(d) VPN - Virtual Personal Network
(A) (a), (b) and (c) only

(B) (b), () and (d) only

(©) (9 (d) and (a) only

(D) (a), (b), () and (d)

Which of the following is not a 32.

characteristic of communication ?

(A) Itis a two-way process

(B) Its flow is linear

(C) Itinvolves information sharing and
understanding

(D) Itisacontinuous process in business
and non-business organisations

fadasm

(@) GUI-(

S E?

sraphic User Interface

(b) ISP - Internet Service Provider

() GIGO -
(d VPN-1
(A) FHT (a
(B) e (b
(O ¥4 (c

(D) () (b),

A da =M1

(A) TE
(B) uE Hieft

(C) T H3
®AE

Garbage In Garbage Out
Virtual Personal Network
). (b) T (c)
), () T (d)
), (d) T (a)

(c) T (d)

q1 HER i O fagmaa =@ €7

i1 wiemar &
T R

A1 9TEn FE 3R aug i

(D) =&
Hdd

g R HEEE el ° U
il
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33.  Which of the following is true regarding  33.

vehicular traffic pollution ?

()

(1)
(i)
(iv)

(v)
(vi)

Implementation of BS-6 norms from
April 2020.

Implementation of BS-5 norms from
April 2020.

BS-6 norms are related to Engines.
BS-5 norms is related to Engines.
BS-6 norms is related to Fuel.

BS-5 norms is related to Fuel.

Which of the following is correct ?

(A)
(B)
©)
(D)

34. Statement : “Should a law be made to 34.

(1), (iid), (v) only
(i), (iii), (vi) only
(i), (iii) only

None of the above

make marriage ages of boys and girls

equal ?”

Arguments :

(4

(I1)

Yes, boys and girls are equal in the
society.

No, girls become physically
matured earlier than boys.

Select the most suitable answer :

ATEA SENTHA YguU & Ty ¥, 7 § 71
@ R?
(i) ST 2020 F BS-6 HHHI 1 e |

(i) 7T 20209 BS-5 W 1 FIA=TA |

(ii) BS-6 WIHH 3oHI ¥ TEHE T
(iv) BS-5HTEH 391 o Traf-eE ¥
(v) BS-6 A $eAl | TRl 7
(vi) BS-5 4 v & Trafd €1

i asR- a2
(A) I (i), (i), (v)

(B) e (i), (ii), (vi)
(C) e (i), (fii)
(D) Sw ® @ HE T

w1 e 1@ asfEdl ¥ faaw
39 M 1@ % fAU I 99 =ifen 2"

(A) Only argument (I) is strong. (A)
(B) Only argument (II) is strong. (B)
(C) Either (I) or (II) is strong. (C)
(D) Neither (I) nor (II) is strong. (D)
SPACE FOR ROUGH WORK / T% ®Td % ferd 578
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35.

36.

Which is the correct statement ?

(@)

(b)

(A)

Team communication should be
more informal and sometimes
formal.

Personal communication should be

more formal
informal.

and sometimes

Both (a) and (b) are correct
(a) is correct and (b) is incorrect
(a) is incorrect and (b) is correct

Both (a) and (b) are incorrect

Identify the correct statement :

(a)

(b)

(A)

(B)

(D)

After independence to revamp the
whole education
Radhakrishnan
Commission was established in the
year 1948-49.

system
Education

Later on Kothari Commission was
appointed and the reports of these
two commissions was made the base
for New Education Policy - 1989.

Both (a) and (b) are correct.
Both (a) and (b) are incorrect.
(a) is correct, but (b) is incorrect.

(a) is incorrect, but (b) is correct.

35, uﬁﬁm#m%?

36.

(a)

TH R Afysa eHTEiE o
Fft-fl g g

e Ty sifaear e o
FHY-F] A= B g

T (a) 7| (b) T ¥ |
(a) WE &9 (b) ToTT §

(a) TR ¥ I (b) TE ¥
ST (a) 9| (b) e ¥

war iy 1 gE=t

(@)

(A)
(B)
©)

(D)

Tl 3 S wegol fen yomed §
GHR 2 99 1948 - 49 § TereoH s
FTAIT BT (RT3 |

El ﬁia?aﬁ A frgaa faan
AT & Gl STERT 1 9 3 378W I
ﬁﬁl‘%?ﬂﬁﬁ—]‘}sgﬁ’qﬂﬁﬂéi

(a) m(b‘}ﬁ'ﬂﬁ%l
(a) AR (b) B e €1

(a) 9 B, 9 (b) TE B
(a) T §, T (b) TR B
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37. There must be three terms in any  37. ol frsd ¥ foru o wg sravs o =nfsu
inference. Which one of the following is =1 4 @ =i uw s wfimten 78 22
not included in this ?
(A) Linga (A) fam
(B) Vyapti (B) =nf
(C)  Anumiti (C) sffa
(D) Anumana (D) IFEE
38.  Which are included in Digital Initiatives ~ 38. =¥ foram % foru fefsee weall § =41
in Higher Education ? Gftafes fean [smm € 2
(a) Starting online courses (a) SAEE WISUsRHI HI JEIT
(b) Telecasting High  Quality (b) DTH =al & gr1 3= Toraan foran
Educational Programme through FTsHH! |1 eremfeT
DTH Channels
(c) Establishing a National Academic (c) 3= FTHYM Y9 3 feru fagmem
Depository Exclusive for High EMER] fedifsedt =t zemomn
Quality Research Papers
(d) Establishing a Central Cloud (d) ﬁwlaam TR {99 ‘BAADAL
Structure called “BAADAL’ e S| & i ST
(A) (), () and (¢) only (A) F (a), (b) @ (0
(B) (b), (c) and (d) only (B) T (b, (c) TS (d)
(©) (), (d) and (a) only (C) @ (c), (d) T (a)
(D) (d), () and (b) only (D) %3 (d), (a) T (b)
SPACE FOR ROUGH WORK / T% &4 & fordl| sime
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39.

40.

41.

Description of environment as it exists in ~ 39.

nature is an :

(A) Environmental Inventing
(B) Environmental Setting
(C) Environmental Audit

(D) Environmental Management Plan

Biodiversity conservation doesn’t 40.

include :

(A) Genetic diversity
(B) Cloning diversity
(C) Species diversity

(D) Ecosystem diversity

If in a certain language 'KNOWLEDGE’ 41.

is coded as 256535475, how is
“HEURISTIC” coded in that language ?

(A) 853991293
(B) 835992183
(C) 753991293

(D) None of these

Tha H Sufted gafeRe &1 9viF 2

(A) Ao g

(B) wATeRmrg Hfem

(C) vafaRuita FHepem

(D) FTERON JawsH A

Srafafasar e # wftifed 76 ¢

(A) SHfes fafaea
(B) =Fenf- fafgya
(C) s fafaem
(D) ¥era fafawma

afe foedt W # 'KNOWLEDGE' &1 &2
256535475 & 1 $9 991 “HEURISTIC”
1 e F1 BT ?
(A) 853991293
(B) 835992183
(C) 753991293

(D) & 9 = e
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42. Education in ancient times was normally ~ 42. W %@ # Smrd: foen dfes w1 9
imparted orally and included TS it Wt off qe 3% 9 ST w1
memorization of Vedas and Teran <tran mlmaﬁsﬁﬁwqa;r&aﬁaﬁ, |
Dharmashastras. Later on subjects which e
were taught included :

(A) Language, Astronomy and (A) e, @i fomm v o
Mathematics

(B) Grammar, Sanskrit and Astrology (B) =T, T Sty

(C) Grammar, Logic and Metaphysics (C) ==vl, do T qeEEiE

(D) Sanskrit, Astrology  and (D) w&Fd, TE
Metaphysics

43.  Which of the following is/are true about 43, ‘E-PRAGATI' % fawg & f= & s-=a1
‘E-PRAGATT ? T E?

(a) It is a comprehensive scheme of (a) T IR 1 U 9 AR S
E-Governance which provides Y Yo f ARIRI il Yerd a1 B
services to the citizen of :

Andhra Pradesh,

(b) Andhra Pradesh is the first state to (b) T T H TwES sfhedr it
conceive and execute statewide YR S U8 HEFEIT 6 a e
enterprise architecture. Ee Y 3119 JeW 7

(c) It provides about 745 services to (c) & T 745 HaId IR ¥ FERI,
Government to Customer, TR o N TR H R
Government to Agencies and % Tamd T
Government to Government. 5

(d) It has been developed in (d) 9 CHIEEN SEe TRIGE % ggam
collaboration with Technology ¥4 foenfam ™ R
Giant Infosys. |

(A) (a), (b) and (c) only (A) F9 (a), (b) W (0)

(B) (b), () and (d) only (B) e (b), () T (d)

(© () () and (a) only (©) ¥ (o), () T (a)

(D) None of the above (D) 39§ | #E &

SPACE FOR ROUGH WORK / T% &1 % fera oive
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44. The University Grants Commission was 44, favafoemed o smam &1 Teq fFaet

constituted on the recommendation of : T I T T 91 ?

(A) Dr. Sarvapalli Radhakrishnan (A) T Heugel THEH HHEH
Commission

(B) Kothari Commission | (B) WISKI HEvH

(C) Mudaliar Commission (C) WeEfER FHTHE

(D) Shastri Commission (D) vl FHeE

45. With a uniform speed a car covers a 45. UHEHH 79 9 TF R 8 ¥ H uF fAfreg

certain distance in 8 hours. Had the speed T 93 w7 || afs vfa 4 fpefide | aer &
Aoidas s

been increased by 4 km/hour, the same T aEl Bl 75 e H 79 B ¥ Sy

distance could have been covered in i feret ®72

1
75 hours. What is the distance covered ?

(A) 420 km (A) 420 fwlqﬂr
(B) 440 km (B) 440 ﬁm“
(C) 480 km (©) 480 fos
(D) None of the above (D) Sl H| 9 FE TE

SPACE FOR ROUGH WORK / 1% &1 & fod| sog
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46. Teaching method called the “Dalton 46, ‘‘Zwes A" fineor vgfa daifig &

Plan” is concerned with :

(A) Abolition of classroom teaching (A) Heq-Tovermn =61 S~qem o 5= %) we
and encouraging children to learn T T & [Hrew ¥ ISR FE)
according to their own speed.

(B) A play way technique for (B) WHA-Te (Al * R Wi §
development of physical and artistic FHAHE FINA Hl T |
skills.

(C) Education through co-curricular (C) iem =it | ¥ = T HE-9IgTHA 9
and extra-curricular activities AT nfafafedl % mem @ Toreqor
within school boundaries.

(D) An open school system, allowing (D) Uk g wien yonedt fod B w@y w5
students to learn for themselves TR W S0 39 U ¥ =E ¥ o
from surroundings through their Hiea ¥ |
own initiative.

47. Match List-I with List-II and select the 47. g -1 qa’r - 11 9 gafem =t fms ol
correct answer using following codes. i WeE ¥ W IR T4\ Hifeg |

List-I List-1I -1 et - 11

(Year) (ad)
(a) Montreal Protocol i) 1972 (a) WIFZIa W i 1972
(b) Safe Drinking Water Act (i) 1993 b) FERfmaE TR @) 1993
(SDWA) in USA (SDWA) smafia o
(c) Wildlife (Protection) Act (i) 1981 (c) dETSARE (WeRM) (iii) 1981
=
(d) The Air Prevention (iv) 1987 (d) ¥E< ¥ uiitg taw (iv) 1987
and Control of Pollution WE=H T Hgien i
Act passed in Parliament gy TaR
()  Convention of biodiversity (v) 1974 (e) ShEfafawa & FHy (v) 1974

came into force W A |

Code : L T8
@ () (© (d (e @ b |© (@ (e

@A) ) @) @ @ ) (&) ) @) @) @) ()

B @) ) @ @@ @ B @ ) 6 @) @

© @) G &) @) @ © @ @@ (v @) @

D) v ) ) @ () D) ) G(v) (@) @) @
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48. Following is given a statement followed
by three arguments I, IT and III. Choose
the correct alternative to decide which of
them are strong arguments ?

Statement : Should mercy death be
legalized i.e., all those who are suffering
from terminal disease be allowed to end
their lives if they so desire.

Arguments :

“fI) No, Nobody should be allowed to
end his/her life at his/her will as
this goes against the basic tenant of
humanity.

(II) Yes, patients undergoing terrible
suffering and having absolutely no
chance of recovery should be
liberated from suffering through
mercy death.

(If) No, even mercy death is a sort of
killing and killing can never be

legalized.
(A) None is strong.
(B) Only (I) and (III) are strong..
(C) Only (I) is sﬁdng. |

(D) Al (I), (II) and (III) are strong.

48.

= U FHYF AT 39H oI 99 a9k 1 1
1 fz& 73 €1 e |fawew g < 3 a0
foF Tofed q% HAE € 2

HA ; 71 To91 g AY § Uiq S = M
g tifeg ¥ 3% Ifg|z=m & @ arwAl fa=it

TeH H <A =i

T

(1

(D)

(1)

(A)
(B)
(©)

(D)

74, Tt =1 off o9 e WSl
femrit e w3 &1 IEfa @ e
=i it J8 wraa & qed fFar
¥F faers &1

&, Wi S SR | R ® E
3R HAF :»quaﬁaﬁéﬁﬂﬁm
TR T 1 IR §o01 Yo ST o L Al
=ifed |

&, 791 g off U YER I 1§
st ==n w1 | =t Sy e 99 w0
TeHar |

1 +ft 7 T T E
et T (1) B (L11) T ¥
S qek (I1) e 2 |

Tt @k (1), (1) 3R (1) F=5 A
gl
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49. Autonomy in higher Education implies  49. 3= foren #|w@mgwa =1 w1 = § w@azan
freedom in : B €
(A) Policy making (A) fifa frefor
(B) Curriculum development (B) wIgH®H T
(C) Finance (©) fad
(D) Administration (D) wemEq
50. Below is given a statement followed by ~ 50. 19 Uk o Ud 3T Y91 d1 H1d FrsHmd
three courses of action numbered (I), (1I) I (1), (1) SR (111) feu & | Tt g =1
and (III). Choose which action logically S e ®F | HYT % HEY B |
follows the statement :
Statement : Nuclear power cannot make /YT : TV F5S11 29 ! G el T Hebl |
a country secure.
Courses of action : HTE T ¢
(I) :  We must stop further expenses on (I) : 9CHIY| Sl =l 9IQM ¥ T & s
increasing our nuclear power. 21 =fen |
(I) : We should evolve a non-nuclear (IT) : eem & fore &8 usw fR-mwm) st
system of security. Soniedt (=1 faepre e =nfen |
(I) : Nuclear should be kept as (I1) : 9TATY] | oife =1 Fame % ®9 4 v
deterrent. =fea |
(A) Only (I) & (II) follows. (A) =hae (I) 3 (I1) STTETT ST § |
(B) Only (II) & (III) follows. (B) e (II) AR (1) STTET HTal 2
(C) Only (Il) & (1) follows. (C) =heed (II1) 3R (I) STEo = &
(D) None of the above. (D) 9§ A FE T |
-00o- -o0o-
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SET - A

I 3ifehd ST 1 @A : 19T tféreRew @ie : 100
Time for marking answers : 1 Hour Maximum Marks : 100
e

1. 39 99-Jfa J 50 agfre woF G e €1 v g F fo 2 siw|fiifa §1 |t v sifard
]

Fort et & o sveran’ v e %, e svoran St gt anfum sl 3 fro 1 e gfe
ST BT 391 U9 ot &1 e ot fReafer & gant qeaiensy = &

3. Wl % S, & T OMR IR-¥ie (HR-32) W 3ifHa witaw)

icd

4. RUTHS: HoAiHA el fwg e |
5. ol oft 7' F FoAFeR T @ Tae UE HEEA BF %1 59T afg )

OMR 3T-¥iIE (ATEL-32) 1 WA F¥d GoF T 1 sraer 7 908 f5as 98 w2 9 o1 30
Hrg 71 faerae anfe v S foess werasy a8 wvE & 9 |

-

Note :

1. There are 50 objective type questions in this booklet. All questions are compulsory and carry
2 marks each.

i

The questions for which OR part is given, this “OR” part is (Inly for Visible Impaired
Candidates. If OR part is done by visible candidate it will not be evaluated.

3. Indicate your answers on the OMR Answer-Sheet provided.
4.  No negative marking will be done.

5. Use of any type of calculator or log table and mobile phone is prahibited.

6. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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